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3HQHOLWLDQ� LQL� GLODNXNDQ� XQWXN� PHQJHWDKXL� VLVWHP� DNXQWDQVL� \DQJ� GLJXQDNDQ��
VHNDOLJXV� PHUDQFDQJNDQ� VLVWHP� DNXQWDQVL� VHGHUKDQD SDGD XVDKD� &DKD\D� %DUDQJDQ�
)XUQLWXUH�� 0HWRGH� SHQHOLWLDQ� WXJDV� DNKLU� LQL� GLODNXNDQ� GHQJDQ� FDUD� REVHUYDVL� \DLWX�
SHQHOLWLDQ� \DQJ�GLODNXNDQ�PHOLKDW� ODQJVXQJ�NH� WHPSDW \DQJ� WHUNDLW�� -HQLV� SHQHOLWLDQQ\D�
\DQJ� GLJXQDNDQ� GDODP� SHQXOLVDQ� 7XJDV� $NKLU� LQL� LDODK� SHQHOLWLDQ� GHVNULSWLI NXDOLWDWLI��
3HQHOLWLDQ� GLODNVDQDNDQ� SDGD� &DKD\D� %DUDQJDQ� )XUQLWXUH \DQJ� EHUDODPDW� GL -O�� 6XND�
.DU\D��7XDK�.DU\D��.HF��7DPSDQ��.RWD�3HNDQEDUX��5LDX������� ,QGRQHVLD�

%HUGDVDUNDQ� KDVLO� SHQHOLWLDQ� GLSHUROHK� EDKZD� VLVWHP� DNXQWDQVL� SDGD� &DKD\D�
%DUDQJDQ� )XUQLWXUH EHOXP� EHUMDODQ� GHQJDQ� VHPHVWLQ\D�� -DGL� SHQXOLV� PHUDQFDQJNDQ�
VHEXDK� VLVWHP� DNXQWDQVL� \DQJ� ELVD� PHPEDQWX� &DKD\D� %DUDQJDQ )XUQLWXUH�� 6LVWHP� LQL�
GLUDQFDQJNDQ� VHGHUKDQD�� +DO� LQL� ELVD� PHPEXDW� SHUNHPEDQJDQ� SHUXVDKDDQ� ELVD� WHUOLKDW�
MHODV��GDQ�HIHNWLI�


